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KP400If % 5 7 &
1200 - 3000 VpRM:400 A avg

SIS
CASE2TA
. AT BEW
. BRITR S
. PHBFEL R Z 3000 volts
. BAEdV/dt
. AEERBER
Pl A5 kN 2 8 1EL
BELET HL s VRRM (D) | VDRM (1) | VRsm (1) .
1400 1400 1400 1600
1600 1600 1600 1800 (1) SOHZ/60zHzIE 7% ¢ i FE G Fl - -40 to +125 °C.
1800 1800 1800 2000 (2) 10 msec. ik 5
2400 2400 2400 1600 (3) Tj=125°C.
2600 2600 2600 2800 ()67 %H 5T HUIEVDRMI I T % . Tj=125°C.
2800 2800 2800 3000 (5) AESAY
3000 3000 3000 3200 (O)IL LT L TH di/dt HUEEIANIMA FiifERS-
Virrm =[] 552 A L s 397, Section$-2-2-6.5 X At
VDRM :IE ﬁ iﬁm%fﬁ tﬁE
Virsw = S 10) AN F AT AR L (2)
Eﬁ%nﬁﬁiﬁﬂéﬂﬁtﬁﬁﬁ Irrm / IprM 10 mA
30 mA (3)
s TR0 e dVv/dt (4) 1000 V/usec
Z H g | BME | BOE | ARUE. | B | A
WA HR Trav) 400 A SINE,180° ‘31 fiT.=65°C
T A H L T YIARME Itrms 628 A
ANH ST IR R 10 msec (50Hz), 1EiXE, 180°F
ITSM 6200 A J‘Eﬁ, TJ =125 OC
Pt I’t 4x10* A’s 10 msec
AR I 300 mA | Vp=24V;R;=12 ohms
2SIV Iy mA | Vp_-24V;I=25A
200
e {0 25 T o Vm 20| 1.6 Y Itm =1200 A; Tj =25 °C
R ETHE (5, 6) di/dt 200 Alps | AER
HL ETHE(6) di/dt 100 Alps | EE
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Pl A5 kN 20 8 1E KP400= 1200~3000 V I 5 jfl &
LS
Z M 5 | M | oK | ORME. | sy | S
A 1T FE R S % Pom 200 W t,= 40 us
ST IRFE R &R Pgav) 5 W
I A i HL i Ior 300 mA | Vp=6 ViR =3 ohms;T; = -40 °C
200 mA Vp =6 V;R, =3 ohms;T;=+25
125 mA | °C
VD =6 V,RL =3 Oth;Tj =
+125°C
Vor 5 \Y% Vp =6 V;R_ =3 ohms;T; =-40 °C
I TR fid A HL 3 \% Vp =6 V;R. = 3 ohms;T; = 0-
0.30 \Ys 125°C
VD = Rated VDRM; RL = 1000
ohms;
T, =+ 125 °C
[ A% S5 Tm) HE A FE T Verm 5 A%
FF < v} (8]
Z M T | My | oK | L | P | A
ﬁjﬁlﬁ I‘ﬂ tgt 3 us ITM =50 A, VD =67% VDRM
1.5 [Tk SR Vg =30 V; Rg= 10
ohms; t. = 0.1 us; t, = 20 us
KW Ta] (with Vg = -5 V) tq us Ity > 2000 A; di/dt = 25 Alus;
250 | 160 Ve >-5V; EHE dV/dt=
30V/us linear to 67% Vpry ;
T; = 125 °C; Duty cycle > 0.01%
1) P L Ly A Itw > 2000 A; di/dt = 50 A/ps;
Vg >-50 V; T, = 125 °C
HRe A HLAR AR 1
Z FF5 TME | BORME | RE | P | A
45 T 40 | +125 °C
i A7k Tag 40 | 1140 °C
gl e Ro ) 0.048 °C/W | Xl
FEHUHAPH Ro (cs) 0.024 °CIW | XUL¥sE
LI ) P 13 kN
GiNy W N/A g.
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